
SAP ABAP table RESCMEASPOINTCONSUM_X {Measuring Points + Consumption: Addit. Fields}

RESCMEASPOINTCONSUM_X

DISTMEAS [CHAR (4)]

CHARACTERISTIC [NUMC (10)]

SNKSL [CHAR (4)]

CABN

MANDT [CLNT (3)]

ATINN [NUMC (10)]

ADZHL [NUMC (4)]

 RESCMEASPOINTCONSUM_X-CHARACTERISTIC = CABN-ATINN 
0..N

0..N
TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 RESCMEASPOINTCONSUM_X-DISTMEAS = TIVBDMEAS-MEAS 
0..N0..N

TIVSCSCKEY

MANDT [CLNT (3)]

SNKSL [CHAR (4)]

 RESCMEASPOINTCONSUM_X-SNKSL = TIVSCSCKEY-SNKSL 

0..N

0..N


